Wed. Sept 23, 2015 MATH 340, Quiz 3 Prof. V. Panferov

obtrons.

Name: (print)

Each problem is worth 2 points. Show all your work.

1. Two fair dice are rolled. Find the conditional probability that at least one lands on 6 given
that the dice land on different numbers.
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2: Let A C B. Express the following probabilities as simply as possible:

P(AIB), P(4|B®, P(Bl4), P(B|A°).
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3. Fifty-two percent of students at a certain college are females. Five percent of the students in
this college are majoring in computer science. Two percent of the students are women majoring
in computer science. If a student is selected at random, find the conditional probability that

(a) the student is female given that the student is majoring in computer science.

(b) this student is majoring in computer science given that the student is female.
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4. In a game of bridge, West has no aces. What is the probability of his partner’s having
(a) no aces?

(b) two or more aces?
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